










SUMMATIVE ASSESSMENT – I (2019-20) 
CLASS- 11th  SUBJECT- ENGLISH  MM: 80  TIME: 3 Hours 

A. Choose the correct answer each of the questions given below with the help of 

options that follow:-         1 ⨯ 5 

(1) The rag pickers of seemapuri live in_________________ 

      (a) mud houses    (b) on the road     (c) on tree     (d)  none of these 

(2) Most bangle makers lose their eye-sight before becoming_____ 

       (a) old     (b) adults    (c) smaller     (d) illness 

(3) Rajkumar shukla was a _______________ 

       (a) poor peasant     (b) landlord     (c) teacher    (d) none of them 

(4) I declared that the british could not order me about in my own country.                                              

what does “I” refer  here? 

       (a) Rajendra Prasad      (b) Mr. Malkani         (c) Gandhiji      (d) Hari Prasad 

(5) Who killed the hundredth tiger : 

        (a) King     (b) soldier    (c) a hunter      (d) Devan 

B. Answer the following questions in about 20-30 words-                2 ⨯ 10  

(1) Why did Saheb’s family settle at Seemapuri ? (Lost spring) 

(2) Why does Anees Jung’s promise to open school hollow ? (Lost spring) 

(3) What was Franz apprehensive of? (Last lesson) 

(4) Why was there a large crowd in front of the bulletin – board? (Last lesson) 

(5) Why was the Y.M.C.A pool safe? (Deep-water) 

(6) How did the author start learning swimming? (Deep-water) 

(7) Who supported the old crofter when he was unable to do day labour? (Rattrap) 

(8) What did the forest remind the peddler of? (Rattrap) 

(9) How did indigo share cropping disappear? 

(10) How did the peasants learn courage? (Indigo) 

C: Answer the following questions  in about 120 to 150 words.   4 ⨯ 4 

(1) Give a character sketch of Mr. Hamel?  

(2) how did the order from Barlin change the situation in the school ?  

(3) “The battle of Champaran is won” Explain the statement. 

(4) What was make-up department of the Gemini studios and how was hierarchy 

maintained there?    

  (D)    Read the following  extract give the answers:-       1 ⨯ 3  

   And yet, for these 

      children, these windows, not this map, 

     their world, where all their future’s painted with fog  

      A narrow street sealed in with a lead sky  

      Far far from rivers, capes and stars of words 

a. What does ‘children, these windows, not this map’ mean? 

b. What kind of places do the children live? 

c. Find out the word from extract which means ‘Mist’.  

       

E. Writing Works     

1. The following paragraph has not been edited. There is an error in each line. Write the 

error along with its correction in the space provided.              5 

          (error)    (correction) 



    Sachin Tendulkar is a best                            a         the  

    a. Cricketer in India. He has play for           ___________          ___________ 

    b. More than 20 years on the country.       ___________         ___________ 

    c. He retired from the games                         ___________        ___________ 

    d. Last year, he is know for                             ___________         ___________ 

    e. His skill in batting or fielding                    ___________         ___________ 

2. Re-arrange any four of the following words/phrases to make meaningful sentences.     5 

    (1) the / habital / regrowth / rate of / is / very slow / of 

    (2) that life began / centuries ago / scientists think / twenty million / on earth / about. 

     (3) are / their / animals / product of / all the / environment 

     (4) endless process / the plants and animals / of evolution / are the products / of an 

     (5) will / help you / who / in / your difficulty /  

3. You are Mohan / Meenu, a student of G.L.C. Ajmer. Draft a notice is not more than 50 

words for the school notice board, asking students to give their names for taking part in 

dance competition.                  4 

4. Write a report in about 100 to 120 words on ‘Road Accident’.                 5 

5. Write an article on ‘Mahatma Gandhi’. (100 to 120 words)             5 

F: Reading:-                12 
1. Read the passage and on the basis of your understanding of the passage answer the 
questions given below:  
 1. India has never subscribed to the doctrine of militarism and war in her history. Here war 
was never treated as an ideal. It was only tolerated as unavoidable and inevitable, and all 
attempts were made to check it and bring it under control. Inspite of the frequency of wars 
in ancient India, in spite of highly developed military organization, techniques of war and 
imperialism, and in spite of the open justification of war as national policy, the heart of 
India loved pacifisms as an ideal capable of realization. India‟s symbolic role was that of a 
peacemaker and it sincerely pinned its faith on the principle of „Live and let live‟. At least 
philosophically, India‟s intelligence supported the cause of peace not only in national 
affairs but in international affairs also. All the great seers of the yore visualized the unity of 
life, permeating all beings, animate or inanimate, which ruled out killing and suicidal wars. 
 2. This doctrine of philosophical pacifisms was practiced by ancient Aryans is, no doubt, a 
question of controversial nature. Certainly, the great Indian teachers and savants stuck to 
this doctrine tenaciously and in their personal life they translated it into practice and 
preached it to masses and even to princes of military classes.  
3. Another culture of those times, the existence of which has been proved by the 
excavations of Mohanjo-Daro, also enunciated the doctrine of pacificism and friendship to 
all. Strangely enough, the Indus Valley civilization has revealed no fortification and very 
few weapons. 
 4. Ahimsa or the doctrine of non-violence in thought, speech and action assumed a gigantic 
importance in the Buddhist and Jain period. By a constant practice of this virtue, man 
becomes unassailable by even wild beasts, who forgot their ferocity the moment they 
entered the circumference of his magnetic influence. The monks and nuns of these 
churches were apostles of peace, who reached every nook and corner of the world and 
delivered the message of love to war-weary humanity. The greatest votary was the royal 
monk Ashoka, who in reality was responsible for transforming Ahimsa as an act of personal 
virtue, to Ahimsa as an act of national virtue. Aglasem School 2 
5. Many a historian recounting the causes of the downfall of the Mauryas, hold the pacific 
policy of Ashoka which had eschewed the aggressive militarism of his predecessors, 
responsible for an early decay of the military strength of the state and its consequent 
disintegration, leading to the rise of Sungas, Kanvas and Andhras. But, in reality the fault 
lies with the weak successors of Ashoka, who could not wield the weapon of non-violence 



with a skill and efficiency which required the strength of a spiritual giant like Ashoka. They 
failed due to their subjective weakness: Pacifism itself was no cause of their failure. 
6. Besides the foregoing philosophical and religious school of thought, even many political 
authorities gave their unqualified support to the cause of pacifisms. They recognized the 
right of rivals to exist, not mainly as enemies, but as collaborators in the building of a 
civilization operation. Thus, for centuries, in the pre-Mauryan India, scores of small 
independent republics existed and flourished without coming in clash with each other. 
 7. With regard to Kautilya, the much maligned militarist and the so called Machiavelli of 
India, He thinks that the object of diplomacy is to avoid war.  
8. The Mahabharata observes in the connection, “A wise man should be content with what 
can be obtained by the expedients of conciliation, gift and dissention.” It denounces the 
warring world of men by comparing it to a dog-kennel. “First there comes the wagging of 
tails, then turning of one round to other, then the show of teeth, then the roaring and then 
comes the commencement of the fights. It is the same with men; there is no difference 
whatever.” Yajnavalkya adds: „War is the last expedient to be used when all others have 
failed.” Likewise, Sri Krishna who‟s Bhagwad-Gita has been styled by some as „a song of the 
battle‟, should not be considered out and out militarist. When all the three expedients were 
exhausted, then alone the fourth was resorted to.  
9. All possible avenues of peace such as negotiation, conciliation through conference, 
meditation and so on, were explored before the war was resorted to. This proves that the 
heart of ancient India was sound and it longed for peace, although war also was not treated 
as an anathema, which was to be avoided as far as possible.  
1.1 Answer each of the questions given below by choosing the most appropriate option:    4 
 (i) The heart of India loved ____  

a) a highly developed military organization  b) techniques of wars and imperialism  
c) loans      d) pacifism  

(ii) Principle of „Live and let live‟ means  
a) imperialism     b) militarism  
c) frequency of wars among nations  d) role of peace makers Aglasem School 3 

 (iii) Aryans preached and practiced this to the masses  
 a) non-violence   b) freedom of speech and action  
 c) philosophical pacifisms  d) practice of military organization 
 (iv) Mahabharata compares the warring world with 
  a) wise men       b) dog kennel    c) song of the battle  d) militarist  
1.2 Answer the following questions briefly:      (1X4=4)  
(i) How was war treated in India?  
(ii) Describe India‟s preparedness for war in spite of their belief in Pacifism. 
 (iii) How did the Aryans practice the Doctrine of Pacifism? 
 (iv) What is Ahimsa? 
1.3 Answer any three of the following questions in 25-30 words: (1X2=2) 
 (i) What kind of unity did all the seers visualize?  
 (ii) Which options were explored by Sri Krishna before resorting to war? 
 1.4 Pick out the words/phrases from the passage which are similar in meaning to the 
following: (1X2=2) 
(i) express in definite and clear terms (para 3 ) 
(ii) defensive wall (para 3)  
 
 
 

 

 

 



SUMMATIVE ASSESSMENT – I (2019 - 20) 

CLASS- 11th   SUBJECT- PHYSICS  MM: 50  TIME: 3 Hours 

      Section-A                                 5⨯1 = 5 

1. Which of the following is not a unit of time? 

     (A) second         (B)  parsec      (C)  year      (D)  light year 

2. Dimension formula of restoring force is- 

     (A) [ML1T-2]        (B) [ML2T-2]     (C) [ML2T-1]    (D) [M2L2T-1] 

3. Which one of the following quantities has not been expressed in proper units? 

A. Coeff of Elasticity :N/m2 
B. Surface Tension : N/m 
C. Energy : Kg.m/sec 
D. Pressure : N/m2 

4. Angle that the vector  ⃗    ̂    ̂ makes with y-axis is- 

      (A) tan-1(3/2)      (B) tan-1(2/3)      (C) sin-1(2/3)     (D)cos-1(3/2) 

5. The proper use of lubricants cannot reduce. 

A. Static friction 
B. Inertia 
C. Sliding friction 
D. Rolling friction 

 

     Section-B    10⨯1 = 10  

6. Write the dimensional formula of torque. 

7. Which of the following measurements is more accurate and why 

      (A) 0.0002 gm     (B) 20.0 gm 

8. Is it possible to have negative value in speed and displacement? 

9. If the velocity of an object decreases with time, then its acceleration is….. 

10. What is the value of m in  ̂    ̂   ̂ to be unit vector? 

11. What is the path followed by a projectile? 

12. Define angle of repose. 

13. Two masses are in the ratio 1 : 5 . What is the ratio of their inertia? 

14. When a bomb explodes in mid-air, at its highest point, what is the direction of motion of 
its core? 

15. A stone breaks the window glass into pieces, while a bullet pierces through the same, 
why? 

    



             

      Section-C    5⨯2 = 10 

16. Prove that the coefficient of static friction is “Tangent” of the angle of repose  

i.e. µ = tanɸ. 

17. Distinguish b/w static friction, limiting friction and kinetic friction. How do they vary 
with the applied force, explain by diagram. 

18. Write the three laws of motion. 

19. A cyclist has to band a little inwards from his vertical position while turning. Why? 

20. Two cars A and B are running at velocities of 60 km/hr and 45 km/hr respectively. 
Calculate the relative velocity of car A if 

I. They are both travelling eastwards 
II. Car A is travelling eastwards and car B is travelling westwards. 

 

        Section-D    6⨯3 = 18 

21. Derive the three equation of motion. 

22. The force experienced by a mass moving with a uniform speed v in a circular path of 
radius r experiences a force which depends on its mass, speed and radius. Prove that 

the relation is    
   

 
. 

23. If two resistances of values R1 = (2.0 ± 0.1)Ω  and R2 = (12.3 ± 0.2)Ω are put in parallel. 

Find the error of combination? 

24. Find the acceleration produced in an object whose position is x(t) = 50t2  + 20t + 30 . 

25. Find the Dot and Cross-product of  ⃗    ̂    ̂   ̂        ⃗⃗    ̂    ̂    ̂   

26. The velocity-time graph of an object moving along a straight line is as shown in fig. 
calculate distance covered by object b/w  (i) t=0 to t=5 sec   (ii) t=0  to  t=10 sec 

 

 
 
 
 

 

      Section-E    3.5 ⨯ 2 = 7 

27. What is the need for banking of road? Write the expression for the maximum speed 
with which a vehicle can safely negotiate a curved road banked at an angle θ. The 
coefficient of friction b/w the wheels and the road is µ. 

28. A body of mass m is placed on the floor of a lift. Find its apparent weight when the lift 
is- 

a) Moving upward with uniform acceleration 
b) Moving downward with uniform acceleration 
c) Moving upward with constant speed 



SUMMATIVE ASSESSMENT – I (2019-20) 

CLASS- 11th  SUBJECT- CHEMISTRY           MM: 50           TIME: 3 Hours 

Note: a). Question No. 1 to 15 each of 1 mark.  

           b). Question No. 16 to 20 each of 2 marks. 

           c). Question No. 21 to 27 each of 3 marks. 

           d). Question No. 28 carries 4 marks.   

Q.1 Which of the following is the Artificial element in the periodic table - 

        (a)Tc           (b) Te           (c) Ru           (d) Os 

Q.2 Which of the following should be the longest bond? 

       (1) S-H          (2) O-H         (3) N-H         (4) P-H 

Q.3 I.P. increases in the order- 

      (a) Be, B, C, N          (b) B, Be, C, N       (c) C, N, Be, B       (d) N, C, Be, B 

Q.4 Which of the following set of element exhibits positive and negative O.S.- 

        (a) O, Cl, H             (b) F, Li, Be          (c) Na, Mg , Al        (d) H, Ba , Ne 

Q.5 In which process energy will be released  

       (a) A(g) →A+
(g) + 1e–  (b) ½ A2(g)→A(g)         (b)  A(S) →A(g)       (c)  A+ + B– (g) →A+ B–(S)        

Q.6 Calculate the molar mass of following- 

          (i) C6H12O6                     (ii) CO2 

Q.7 How much copper can be obtained from 100g of copper sulphate? 

Q.8 How many significant figures are present in the following- 

          (i) 5000.0      (ii) 3.6404     (iii) 0.045        (iv) 2808 

Q.9 Calculate the mass and charge of one mole of electrons. 

Q.10 What is the lowest value of n that allows g orbitals to exist. 

Q.11 How many electrons in an atom may have the following quantum numbers? 

           (a) n=4 , ms=   
 ⁄       (b) n=3  ,      

Q.12 Indicate the number of unpaired electrons in (a) As (b) Te   (c) Cr    (d) Fe . 

Q.13 In terms of period and group where would you locate the element with Z=114? 

Q.14 Explain why cations are smaller and anions larger in radii than parent atoms. 

Q.15 Write the general outer electronic configuration of s, p, d and f block element. 

Q.16 Calculate the σ & Z* for 2P e- of Cl  and 3S e- of Cu. 

Q.17 Classified the following in to iso electronic & iso structural species. 

       (a)      , NH3             (b) CH4 , CCl4        (c) XeF2  ,    
              (d) BF3  , BCl3 

Q.18 Calculate the hybridised state of atom in following compn 

         (a)    
         (b) XeO3F2 



 

 

Q.19 What is overlapping? Arrange the following increasing order of extent of overlapping. 

    (i)  (a) S – S     (b) S – P         (c) P – Pп           (d) P – Pσ 

   (ii)       – –C–F        , – – C–Cl     ,     – –C–Br 

Q.20 An atom of an element contains 29 electrons and 35 neutrons deduce  

(i) Number of protons (2) the electronic configuration of the element. 

Q.21 Assign oxidation Number to the underlined element. 

 (i)           (ii)                 (iii)             (iv)        

Q.22 The threshold frequency ʋ0 for a metal is 7.0 × 1014 S-1. Calculate the kinetic energy of 

an electron emitted when radiation of frequency ʋ=1.0 × 1015 sec-1 hits the metal. 

Q.23 Calculate the energy associated with the first orbit of He+. What is the radius of this 

orbit? 

Q.24 Using S, P, D notations, describe the orbital with the following quantum number- 

            (a) n=1  ,  =0              (b) n=3 ,  =1             (c) n=4  ,  =2   

Q.25 A solution is prepared by adding 2g of a substance A to 18 g of water. Calculate the 

mass % of the solute. 

Q.26 Explain the Redox process with help of Electro chemical cell or galvanic cell. 

Q.27 Calculate the molarity of a solution of ethanol in water in which the mole fraction of 

ethanol is 0.040. (Assume the density of water to be one) 

Q.28 Balance the following Redox Reaction. 

i.                    
   ( In basic medium) 

ii.     
                

  ( In Acidic medium) 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



SUMMATIVE ASSESSMENT – I (2019-20) 

CLASS-11th   SUBJECT- MATHS MM: 80 TIME: 3 Hours 

Q.1 Distance between the lines 5x+3y-7=0 and 15x+9y+14=0               1 

       (a) 
  

√  
       (b) 

 

  √  
      (c) 

  

  √  
          (d) None 

Q.2 The angle between the lines 2x-y+3=0 and x+2y+3=0                 1 

        (a) 90∘       (b)60∘           (c)  45∘           (d)180∘       

Q.3 If     |   |        then value of  -                  1  

         (a) 2         (b) 0            (c) 1               (d) 3 

Q.4 The sum of         and its conjugate complex number is-              1 

          (a) 0        (b)             (c) 6               (d) 5 

Q.5 cos2x is equal to-                     1 

          (a) sec2x   (b) 1-sin2x   (c) tan2x   (d) None 

Q.6 If A={3,4,5} find number of element in A × A.                 1 

Q.7 Change into degree. If measure of angle in radian  
  

  
 .                   1 

Q.8 Find the value of tan
    

 
 .                   1 

Q.9 Find the value complex number in for                        1 

          (a)          

Q.10 Solve         when   is an integer.                 1 

Q.11 Solve and show on line 3(2-x) ≥2(1-x).                 1 

Q.12 Find slope and intercept on y-axis x-2y=-4                 1  

Q.13 Find distance of a point (x , y) from the origin.                1 

Q.14 Equation passing through the point (-1,2) with slope 4.               1 

Q.15 Convert complex number i in the polar form.                1 

Q.16 Solve the equation √      √                     2 

Q.17 If A= {-1,1} , Find A×A×A .                   2 

Q.18 Find the domain and range of f(x) = √      .                2  

Q.19 Prove that 2sin2π/6 + cosec27π/6 cos2π/3 =3/2                2  

Q.20 Find the modulus of    
   

   
 

   

   
 .                              2 

Q.21 If                 , then show that 
 

 
 

 

 
                       3 

Q.22 Prove by using the principle of mathematical induction for all n⋳ N.             3 

           P(n): 1.3 + 3.5 + 5.7 + ---------+ (2n-1)(2n+1)= 
           

 
 . 

Q.23 Prove that     
 

  
     

  

  
       

  

  
       

  

  
                       3  

Q.24 Find the coordinate of the foot of perpendicular form a point (-1 ,3) to line             3 

          3x-4y-16 =0 



Q.25 Find the angle between the lines √ x +y=1 and x+√ y=1               3 

Q.26 How many liters of water will have to be added to 1125 liters of the 45% solution of     

acid so that the resulting mixture will contain more than 25% but less than 30% acid     

content?                      3  

Q.27 Find                                                in quadrant II.              3  

             Or 

         

  Prove by using the principle of mathematical induction for all n⋳ N . 

          P(n): 41n-14n is a multiple of 27. 

Q.28 Reduce  (
 

     
     

 

   
)  ( 

    

   
)  to standard form-                4 

          Solve system of inequalities by graphically 

                                

Q.29 If three points (h,0) ,(a,b) and(0,k) lie on line show that 
 

 
 

 

 
   .             4  

    Or 

           Find the solution for equation 

            Cos3x+cosx-cos2x = 0 

Q.30 Prove that 
                 

                 
                         4 

Q.31 Prove by using the principle of mathematical induction for all n⋳ N .                                 4 

           
 

     
 

 

     
 

 

     
       

 

           
 

      

           
 

Q.32 If α and β are different complex numbers with | |               |
   

    
| .            4 

Q.33 A solution is to be kept between 68∘ F and 77∘ F. what is the range in temperature in     

degree Celsius if Celsius / fahrenheight  conversion formula is given by    
 

 
    .  4 

       Or 

         A line perpendicular to the line segment joining the points (1,0) and (2,3) divides it in 

ratio 1:n . Find the equation of the line. 

Q.34 Prove that                           
 

 
   

  

 
 .               5 

Q.35 If         
   

   
   where c is real, prove that a2+b2 =1 and 

 

 
 

  

    
 .             5 

     Or 

Find the equations of lines passing through the point (2,2) , such that the sum of their 

intercepts on the axis is 9 . 

 
 
 


